a

0obpasoBaHue cyMmm
~ FOHOMETPUUYECKUX
DYHKLUUWN B NnpoU3BEAEHUE

CymMma (pa3HOCTb) CUHYCOB
Cymma (pa3HOCTb) KOCMHYCOB



sin(s +¢)+sin(s —¢)

(sin S COS? +COS s Sin t)+ (sin § COSt—CO0S s sin t) =
= 25sIn s Cost?

sin(s + t)+ sin(s — z‘) = 2S8In S COSt
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Bamerum S +Z wa X , S—lua YV

X + X —
S Ha y,tHa J
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SIn X +sin y = 2s1in , COS /



—sin y =sin(— y)

SIN X —SIn y = sinx+sin(— y)z

=25inx+(_y)cosx_(_y):
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cos(s +¢)+ cos(s —¢)

(coss COS?—sIn s sin t)+ (cos $ COS? +s1n s sin t) =
= 2C0S 5 COS?

cos(s + t)+ cos(s - t) =208 5CO0S?



BBeaem 0603HaueHuUA:

X=8S+I1, y=8s—1

[ony4nm:

x+yC X—y

COSX+COSy =2C0S 0S
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X+y . x—Y

= —25sIn sin
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